Practice Test — Grade 8 Science Answer Key

Item Teks | Maximum
.. Item Type . Number Correct Answers(s)
Position Alignment .
of Points
1 Multiple Choice 8.3.8.8.B 1 B
2 Multiple Choice 8.4.7.12.F 1 B
3 Multiple Choice 8.1.6.6.B 1 D
4 Multiple Choice 8.4.8.11.B 1 B
5 Multiple Choice 8.1.8.5.E 1 D
6 Multiple Choice 8.3.8.10.C 1 A
5
7 Text Entry 8.1.7.5.B 1 See Appendix 1.1
8 Multiple Choice 8.2.6.8.D C
9 Multiple Choice 8.3.8.7.A D
number of protons,
number of electrons,
10 Drag and Drop 8.1.8.5.B 2 number of valence
electrons
See Appendix 1.2
11 Multiple Choice 8.1.8.5.D 1 B
Mice and Goats
12 Hotspot 8.4.8.11.A 2 See Appendix 1.3
13 Multiple Choice 8.3.8.10.A A
14 Multiple Choice 8.1.8.5.A C
15 Multiple Choice 8.1.7.6.A C
16 Short Constructed 8.2.8.6.A 2 See Appendix 1.4
Response
17 Multiple Choice 8.4.8.11.C 1 B
18 Evidence Based Selected 3388A 5 B, A
Response
19 Multiple Choice 8.2.6.8.A B
20 Multiple Choice 8.3.8.9.B A
21 Multiple Choice 8.3.8.7.A B
29 Evidence Based Selected 8.2.8.6.C ) B, C
Response
23 Multiple Select 8.3.8.9.C 2 A D :
See Appendix 1.5
24 Multiple Choice 8.2.8.6.A 1 C
25 Short Constructed 8.4.8.11.A 2 See Appendix 1.6
Response
26 Multiple Select 8.2.8.6.C 2 A D

See Appendix 1.7




Maximum

It(::r:n Item Type .TEKS Number Correct Answers(s)
Position Alignment .
of Points
27 Multiple Choice 8.4.7.11.A 1 C
28 Multiple Choice 8.4.7.14.B 1 A
29 Multiple Choice 8.2.6.8.C 1 B
30 Multiple Choice 8.3.8.9.C 1 C
31 Multiple Choice 8.4.7.12.D 1 C
32 Multiple Choice 8.2.6.9.C 1 B
33 Multiple Choice 8.3.8.7.B 1 B
34 Multiple Choice 8.4.8.11.B 1 B
35 Multiple Choice 8.1.6.6.A 1 D
36 Multiple Choice 8.4.7.12.B 1 A
37 Multiple Choice 8.3.8.9.A 1 C
38 Multiple Choice 8.1.8.5.C 1 B




Practice Test — Grade 8 Science

Appendix

11

A student researches an ecosystem and draws the food web shown.

Lions

\‘\\E Jackals
Kites w.ldcat \ Goats

Owils

Snakes \ Green plants
‘\\"-— Mice

How many secondary consumers are in this food web?
Enter your answer in the box.

5

1.2

Describe the roles of subatomic particles within an atom.

Move the correct answer to each box. Mot all answers will be used.

The number of protons | determines the identity of an atom and is equal to the number of electrons |,

The chemical reactivity of an atom is determined by the é-Hl.]|-'r-1i:a----u_:u?_{r;-n_l_e_r{&_e_;a_l;a_c_t_r_ﬁﬁ-s.--i,




13

A partial food web is shown.
Which two organisms compete with rabbits for biotic resources?

Select TWO correct answers.

Mountain lions

Hawks
Ccyotes Owls Wolves
Snakes >< /

Rabbms

Pla nts



14

Two students push on the opposite sides of a crate, with the force applied by each student in newtons (N), as shown
in the diagram.

Assuming the crate is on a frictionless surface, describe the effect of these forces on the crate.
+« Will the crate move toward the left, toward the right, or not at all?

« What is the direction and the magnitude of the net force on the crate?

Review the diagram carefully. Then enter your response in the box provided.

B I U T = ES & Q)

# Chars 0/475

The student describes both of the following:
= The crate will move to the left.
= The net force on the crate is 13 N left.



15

A topographic map is shown.

Contour interval: 20 m

Which statements accurately describe features of the land represented by the topographic map?

Select TWO correct answers.

There is a stream.

[[] There is a large valley.

[] There is a consistent slope.
There is ane peak.

[] There is a river valley.



1.6
The graph shows the optimal growth temperatures for four types of bacteria.

Increasing Growth Rate of Bacteria
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Some types of bacteria can be found arocund deep ccean vents. These vents emit very hot water.
Use the information in the graph to answer these questions:
* \Which type of bacteria would likely be found FARTHEST from the vent opening? Explain why.
* \Which pair of bacteria types would likely compete the MOST for survival? Explain why.

Look at the graph carefully. Then enter your answers in the box provided.

B I U I

inn
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# Chars 475

The student addresses both of the following:
»= Psychrophiles would be found farthest from the vent because their temperature tolerance range
is the lowest.
= Thermophiles and hyperthermophiles will compete the most with one another because their
temperature tolerance ranges overlap the most.



1.7
A researcher observes a car speeding up from rest. The researcher records data about the car and the car's maotion.

Which data points can be used to calculate the net force that was acting on the car when it was speeding up?

Select TWO correct answers.

B The car's mass is 1,000 kqg.

[] The car's speed increased for 7 seconds.

["] The car started from rest.

The car's acceleration was 4 m/s°.

[] The car traveled a total of 300 m.
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